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BhERIE HERIRE(A) AIEERERE(B) 1EiK(A)-(B)
TTERIRE NG 0 0 0
EANEU TN 0 0 0
JRERUL RN 0 0 0
REBEING 1,132,047, 698 1.113, 144, 214 18,903, 484
ISR BN 0 0 0
Iy [EERAUY -EXEEHING 0 0 0
m | EERES NG 0 0 0
ERREEING: 0 0 0
ZOMDIBZEUNES 0 0 0
1|j RERETMEING 97,900 0 97,900
- ZOABOURES 0 5,128, 000 -5, 128, 000
A Y-EXEEINGET (1) 1,132, 145,598 1.118, 272, 214 13,873, 384
G 898, 714, 515 941 705. 009 ~47,990, 494
;Eé ESE 5= 117,897, 911 118, 816, 218 -918, 307
4 FHE 56, 200, 679 66, 316, 957 -10, 116, 278
f.? MBI IESEERER 0 0 0
: BB 0 0 0
& (FIAERIEEREA 0
R RSN E 62, 349, 035 45 120, 583 17,228, 452
EEHBEEFRIR T R HREE -16, 549, 669 ~10, 714, 493 -5, 835, 176
BN REER 0 0
HURTEES | HERA 0 0
ZOMOER 0 0
Y-EXEEERET (2) 1,118,612, 471 1.161, 244, 274 -42, 631, 803
Y-ERESERAERE (3) = (1) - (2) 13,533,127 -42, 972, 060 56, 505, 187
BAESH BB RN 0 0 0
SHUVH R0 &N 17,760 58, 232 -40, 472
Bl 0 0 0
ELfiTEIEZ Pl 0 0 0
Iy |IREEMEEZSEHmES 0 0 0
m | BRIt 0 0 0
*Ij EURRATE ST 0 0 0
¢ &7 B Sl 0 0 0
A TOMOY —EXTEEISMING 34, 951, 811 49 207. 162 -14, 255, 351
& Y—EREBIMREET (4) 34,969, 571 49 265 394 14, 295, 823
fji KR 0 0 0
12 BifEEssETEE 0 0 0
e BifisEzs55iiE 0 0 0
Ol [eaamsrsribs 0 0 0
" i SEE TS 0IE 0 0 0
BERRAEE TS 0 0 0
1R B EESTEE 0 0 0
TOMOY -EXEENSNER 18, 009, 063 19,131, 866 -1,122, 803
S-EREESMERET (5) 18,009, 063 19,131, 866 -1,122, 803
J-EEEIMERELE (6) = (4) — (5) 16, 960, 508 30, 133, 528 -13, 173, 020
EWIERZERE (7) = (3) + (6) 30, 493, 635 -12, 838, 532 43, 332, 167
JiTReg=d Al 0 144, 122, 250 -144,122, 250
HEsR B RS B M R UNE 0 0 0
REEEERMBAETREETMEUNE 0 0 0
g B A 1 0 1
ElE BTSN 0 0 0
ZOMOFFBIUNZES 0 0 0
E FIRIUREEET (8) 1 144, 122, 250 -144,122, 249
e EAREHEARE 0 0 0
| |amEmE 0 0 0
O |EEaEsbE-0E 9 5 815, 426 -5, 815, 417
) & |EEHEFHREIEEEE (FRD%F) 0 0 0
H BB EFSRIE I 88 0 144, 122, 250 -144,122, 250
KEEK 0 0 0
ZOMOFFRIIER 0 0 0
HRIERET (9) 9 149, 937, 676 -149, 937, 667
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BhERIE HERIRE(A) AIEERERE(B) 1E(A)-(B)
FRIEIRAEE (10) = (8) — (9) -8 -5, 815, 426 5,815,418
LEREENSREAR (11) = (7) + (10) 30,493, 627 -18, 653, 958 49, 147, 585
’fé ATHARE R ENERZERE (1 2) 885, 916, 882 659, 012, 840 226, 904, 042
& | HRRGEOEENMERAERE (13) = (11) + (12) 916, 410, 509 640, 358, 882 2176, 051, 627
o [EREEmEEE (14) 0 0 0
g ZOMMOIEIZIEHERZE (1 5) 64, 416, 000 298, 788, 000 -234, 372, 000
@ | EOMOIEIIERIETER (1 6) 84, 362, 000 53, 230, 000 31,132, 000
;DB RHRRHOEBNERELRR (17) = (13) + (14) + (15) - (16) 896, 464, 509 885,916, 882 10, 547, 627




